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Q1) The MATLAB function code given below is a sorting (in Turkish siralama) algorithm

function[vector output,counter]=cptimum siralama_sinav(vector)
counter=0;

length vector=length{vector);

for j=1:length vector-1

for i=l:length_vector-j,
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vector (i)=vector{i+1);

vector (i+l)=degisen vector;
e1zzunter=count:er+1; Coul\{ cr s
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This function is called in MATLAB where vector=[3 52 4 1] 31 S\/L{ |' @ (5 LS-.J[ :
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[vector_ output,counter]=optimum_siralama sinav(vector)

Find ‘vector_output” and ‘counter’ (50 points) 1306

Q2) The MATLAB function code is given below:
LD

function outputZ=function exam g2(a,b,n)

for i=1:n, é;’
output2 (i) =a-b; o n of - ’%
a=b;
b=output2 (i) ;
end
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This function is called in MATLAB as ' N [1
Ve
output2=function exam g2(5,2,5) \ — - ,‘E
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Find the value of ‘output2’ (50 points)
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